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Solved Examples And Exercises

1. Find the distance between the directrices of

2 2

i x (]
the ellipse +
P>€ 36

= 1.
20



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_A6YRw57rhnan

° Watch Video Solution

2. If the eccentricity of an ellipse is 3 and the

distance between its foci is 10, then find the

latusrectum of the ellipse.

° Watch Video Solution

3. Find the eccentricity, centre, vertices, foci,

minor axis, major axis, directrices and latus-


https://dl.doubtnut.com/l/_A6YRw57rhnan
https://dl.doubtnut.com/l/_gyp8TW2vTJ7p
https://dl.doubtnut.com/l/_DpZ8u6nbjWCP

rectum of the ellipse

2522 + 9y? — 150z — 90y + 225 = 0.

° Watch Video Solution

4. Find the eccentricity, foci and the length of
the latusrectum of the ellipse

2 + 4 +8y—2x+1=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_DpZ8u6nbjWCP
https://dl.doubtnut.com/l/_7PiOp9PbdG69

5. For the following ellipses find ellipses find
the lengths of major and minor axes,
coordinates of foci, vertices and the
eccentricity: 162> + 25y = 400

322 + 2y =622 +4y* — 22 = 0

o Watch Video Solution

6. Show that z? + 4y®> — 2z + 16y + 13 =0
is the equation of an ellipse. Find its

eccentricity.

| & I


https://dl.doubtnut.com/l/_EYjrKfbWUg6u
https://dl.doubtnut.com/l/_S46Gkq9lbnyl

| ¥ Watch Video Solution |

7. Find the equation of the ellipse with focus
at ( — 1, 1) and eccentricity 1/2 and directrix is

X-y+3=0.

o Watch Video Solution

8. Find the equation of the ellipse whose
eccentricity is 1/2, the focus is (1, 1) and the

directrixisx —y+ 3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_S46Gkq9lbnyl
https://dl.doubtnut.com/l/_unaMzCisWeFg
https://dl.doubtnut.com/l/_xyKlm13SIR9W

9. Find the equation of the ellipse whose focus

is (1,0), the directrix is x +y+ 1 =0 and

eccentricity is equal to
V2.

o Watch Video Solution

10. A straight rod of given length slides
between two fixed bars which include an ingle
of90" . Show that the locus of a point on the

rod which divides it in a given ratio is an


https://dl.doubtnut.com/l/_xyKlm13SIR9W
https://dl.doubtnut.com/l/_3e3Jg2DI1o9E
https://dl.doubtnut.com/l/_ny0S39z0wYO0

ellipse. If this ratio be 1/2, show that the

eccentricity of the ellipse is 4/2 /3.

° Watch Video Solution

1. A point moves so that the sum of the
squares of its distances from two intersecting
straight lines is constant. Prove that its locus

is an ellipse.

o Watch Video Solution



https://dl.doubtnut.com/l/_ny0S39z0wYO0
https://dl.doubtnut.com/l/_D1bK8wFe0oor

12. Find the equation of the set of all points
2
whose distances from (0,4) are 3 of their

distances from the liney = 9.

o Watch Video Solution

13. Find the equation of the ellipse whose axes
are along the coordinate axes, vertices are

(0, 4+ 10) and eccentricitye = 4/5.

o Watch Video Solution



https://dl.doubtnut.com/l/_ISy6DM5gc4Q8
https://dl.doubtnut.com/l/_vS0ntsr3lYce
https://dl.doubtnut.com/l/_2lWE0PH19EYJ

14. If the latusrectum of an ellipse is equal to

half of minor axis, find its eccentricity.

° Watch Video Solution

15. Find the equation of the ellipse whose axes
are parallel to the coordinate axes having its
centre at the point (2, — 3) one focus at

(3, — 3) and vertex at (4, — 3)-

o Watch Video Solution



https://dl.doubtnut.com/l/_2lWE0PH19EYJ
https://dl.doubtnut.com/l/_ECQ9u272Bqk9
https://dl.doubtnut.com/l/_0j0iYSOtPgkN

16. Find the equation of the ellipse with foci at

36
(+5,0)and x=—- as one of the directrices.

° Watch Video Solution

17. Find the equation of the ellipse whose
centre is at the origin, foci are

(1, 0)and( — 1, 0) and eccentricity is 1/2.

° Watch Video Solution



https://dl.doubtnut.com/l/_0j0iYSOtPgkN
https://dl.doubtnut.com/l/_WTtTLXGY8Kss

18. Find the equation of the set of all points
the sum of whose distance from the points

(3,0)and(9, 0) is 12.

o Watch Video Solution

19. Arod AB of length 15¢m rests in between
two coordinate axes in such a way that the
end point A lies on x — axis and end point B

lies on y-axis . A point is taken on the rod in


https://dl.doubtnut.com/l/_FsvU2JJGEgAA
https://dl.doubtnut.com/l/_sWNb6pdk7Um5

such a way that AP = 6cm . Show that the

locus of P is an ellipse.

° Watch Video Solution

20. Find the equation of the ellipse whose foci
are (2,3),( —2,3) and whose semi-minor

axes is /5.

° Watch Video Solution



https://dl.doubtnut.com/l/_sWNb6pdk7Um5
https://dl.doubtnut.com/l/_BCSHkklTDJvd

21. A bar of given length moves with its
extremities on two fixed straight lines at right
angles. Show that any point on the bar

describes an ellipse.

o Watch Video Solution

22. An arc is in the form of a semi-ellipse. It is
8m wide and 2m high at the centre. Find the
height of the arch at a point 1. 5m from one

end.

| & I


https://dl.doubtnut.com/l/_8PYgQleY5dov
https://dl.doubtnut.com/l/_19aGmabJGUmv

| ¥ Watch Video Solution |

23. Find the equation of the ellipse whose axes

are along the coordinate axes, vertices are

( £ 5,0) and foci at ( £ 4, 0).

o Watch Video Solution

24.Find the equation of the ellipse whose axes
are along the coordinate axes, foci at (0, + 4)

and eccentricity 4/5.

o Watch Video Solution



https://dl.doubtnut.com/l/_19aGmabJGUmv
https://dl.doubtnut.com/l/_5iKkRlP73U5l
https://dl.doubtnut.com/l/_qufHOBKzrZWL

25. Find the equation of the ellipse (referred

to its axes as the axes of zandy , respectively)

1
whose foci are ( & 2, 0) and eccentricity is 3

o Watch Video Solution

26. A man running a racecourse notes that the
sum of the distances from the two flag posts

from him is always 10 m and the distance


https://dl.doubtnut.com/l/_qufHOBKzrZWL
https://dl.doubtnut.com/l/_WWzwDqzOLM0u
https://dl.doubtnut.com/l/_vGjbXT1qBR9F

between the flag posts is 8 m. Find the

equation of the posts traced by the man.

° Watch Video Solution

27. Find the equation of the ellipse whose
focus is (1,-2) the directrix 3z — 2y +5 =20

and eccentricity equal to 1/2.

° Watch Video Solution



https://dl.doubtnut.com/l/_vGjbXT1qBR9F
https://dl.doubtnut.com/l/_HNiLoHw3wa7e

28. Find the equation of the ellipse in the

following case: focus is (0,1) , directrix is

1
w+y20and€: E

o Watch Video Solution

29. Find the equation of the ellipse in the
following case: focus is (-1,1) directirx is

1
:c—y+3:Oande:§.

o Watch Video Solution



https://dl.doubtnut.com/l/_h5F0CSHAIIq3
https://dl.doubtnut.com/l/_FGzp4n7bd7g4
https://dl.doubtnut.com/l/_lebqxtcs3Lg3

30. Find the equation of the ellipse in the
following case: focus is (-2,3) directrix is

4
2x +3y+4=0ande = =3

o Watch Video Solution

31. Find the equation of the ellipse in the
following case: focus is (1,2), directrix is

1
3w+4y—7:Oande:§.

o Watch Video Solution



https://dl.doubtnut.com/l/_lebqxtcs3Lg3
https://dl.doubtnut.com/l/_4aIsmaGTm1Ie
https://dl.doubtnut.com/l/_XZCoB9h91sVO

32. Find the eccentricity ,coordinates of foci
Jlength of the latus rectum of the following

ellipse: 42 + 9y* = 1

o Watch Video Solution

33. Find the eccentricity ,coordinates of foci,

length of the latus rectum of the following

ellipse: 2522 + 16y* = 1600.

o Watch Video Solution



https://dl.doubtnut.com/l/_XZCoB9h91sVO
https://dl.doubtnut.com/l/_EAHCt1U3cwBE

34. Find the eccentricity ,coordinates of foci,
length of the latus rectum of the following

ellipse: 5z + 4y* = 1

o Watch Video Solution

35. Find the eccentricity coordinates of foci,
length of the latus rectum of the following

ellipse: 42 + 3y* = 1

o Watch Video Solution



https://dl.doubtnut.com/l/_kThBN7JCNL8d
https://dl.doubtnut.com/l/_JTYMinmv78qO
https://dl.doubtnut.com/l/_fXTJ43ZbFC9s

36. Find the eccentricity, coordinates of foci,
length of the latus rectum of the following

ellipse: 922 + 25y% = 225

o Watch Video Solution

37. Find the equation to the ellipse (referred
to its axes as the axes of  and y respectively)

which passes through the point (-3,1) and has

2

eccentricity 5

o Watch Video Solution



https://dl.doubtnut.com/l/_fXTJ43ZbFC9s
https://dl.doubtnut.com/l/_khdJDwVhfuVM

38. Find the equation of the ellipse (referred

to its axes as the axes of xandy , respectively)

1
whose foci are ( & 2, 0) and eccentricity is 5

o Watch Video Solution

39. Find the equation of the ellipse in the
2
following case: eccentricity e = 3 and length

of latus rectum = 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_ULlCqMTaTgqP
https://dl.doubtnut.com/l/_B2KxRXaC95YK
https://dl.doubtnut.com/l/_8v7YTZ7bI9jt

40. Find the equation of the ellipse in the

1

following case: eccentricity e = 3 and semi

major axis = 4.

o Watch Video Solution

41. Find the equation of the ellipse in the

1
following case: eccentricity e = 3 and major

axis = 12

o Watch Video Solution



https://dl.doubtnut.com/l/_8v7YTZ7bI9jt
https://dl.doubtnut.com/l/_61YWjgCc0EQq
https://dl.doubtnut.com/l/_ZRErdcaqa0M9

42. Find the equation of the ellipse in the
following case: the ellipse passes through (1,4)

and (-6,1).

o Watch Video Solution

43. Find the equation of the ellipse whose axes

are along the coordinate axes, vertices are

( £ 5,0) and foci at ( £ 4, 0).

o Watch Video Solution



https://dl.doubtnut.com/l/_ZRErdcaqa0M9
https://dl.doubtnut.com/l/_gZBhOr0qVLaw

44. Find the equation of the ellipse in the
following case: ends of major axis ( & 3,0)

ends of minor axis (0, £ 2)

o Watch Video Solution

45. Find the equation for the ellipse that

satisfies the given conditions: Ends of major

axis (0, = +/5) , ends of minor axis ( £ 1, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_KhMZhC42tKen
https://dl.doubtnut.com/l/_2bVws7EEtcRg
https://dl.doubtnut.com/l/_h8hH3sbck31d

46. Find the equation for the ellipse that
satisfies the given conditions: Length of major

axis 26, foci ( + 5, 0)

o Watch Video Solution

47. Find the equation of the ellipse in the
following case: Length of minor axis 16 foci

(0, +6)

o Watch Video Solution



https://dl.doubtnut.com/l/_h8hH3sbck31d
https://dl.doubtnut.com/l/_X3tRXs8n5EWU
https://dl.doubtnut.com/l/_SRd3iHjJfoNJ

48. Find the equation of the ellipse in the

following case: Foci ( + 3,0),a = 4

° Watch Video Solution

49. Find the equation of the ellipse whose foci

are (4,0) and (-4,0), eccentricity =1/3.

o Watch Video Solution

50. Find the equation of the ellipse whose

minor axis is equal to distance between the


https://dl.doubtnut.com/l/_SRd3iHjJfoNJ
https://dl.doubtnut.com/l/_TbLy5GkKGGwH
https://dl.doubtnut.com/l/_dhCe3jUyMQ1j

foci and latus rectum is 10.

o Watch Video Solution

51. Find the equation of the ellipse whose
centre is (-2,3) and whose semi axes are 3 and
2 when major axis is (i.) parallel to x-axis (ii.)

parallel to y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_dhCe3jUyMQ1j
https://dl.doubtnut.com/l/_GqZuYP8BduMC

52.If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.

° Watch Video Solution

53. Find the centre ,the lengths of the axes,
eccentricity, foci of the  following

ellipse:2+2y"2-2x+12 y+10=0'

° Watch Video Solution



https://dl.doubtnut.com/l/_655RjDbnEagy
https://dl.doubtnut.com/l/_KHBbtW75Ua4o

54. Find the centre, the lengths of the axes,
eccentricity, foci of the following ellips+4y”2-

4x+24 y+31=0'

o Watch Video Solution

55. Find the centre, the lengths of the axes,
eccentricity, foci of the following ellipse:

A +y> —8x +2y+1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_sqZFzSVlpzKX
https://dl.doubtnut.com/l/_1qOGKT3LD6z1
https://dl.doubtnut.com/l/_rAAxnh59pWOE

56. Find the centre, the lengths of the axes,
eccentricity, foci of the following ellipse:

4z® + 16y° — 24z — 32y — 120 = 0

o Watch Video Solution

57. Find the centre ,jthe lengths of the axes,
eccentricity, foci of the following ellipse:

322 +4y> — 1220 —8y+3=0

o Watch Video Solution



https://dl.doubtnut.com/l/_rAAxnh59pWOE
https://dl.doubtnut.com/l/_eab6qfAygbsE
https://dl.doubtnut.com/l/_HhC2R52dhXJr

58. Find the centre ,the lengths of the axes,
eccentricity, foci of the following ellipse:

z? + 4y’ — 2z +8y+1=0

o Watch Video Solution

59. Find the equation of an ellipse whose foci
are at (£ 3,0) and which passes through

(4,1).

o Watch Video Solution



https://dl.doubtnut.com/l/_HhC2R52dhXJr
https://dl.doubtnut.com/l/_rqosXQlYIn4r

60. Find the equation of an ellipse whose
eccentricity is 2/3, the latus rectum is 5 and

the centre is at the origin.

o Watch Video Solution

61. Find the equation of an ellipse with its foci
on y-axis, eccentricity 1 centre at the origin

and passing through (6,4).

o Watch Video Solution



https://dl.doubtnut.com/l/_et13BTdXns32
https://dl.doubtnut.com/l/_Ut8BYqiAkNyJ
https://dl.doubtnut.com/l/_cRLxckwpklWF

62. Find the equation of an ellipse whose axes
lie along coordinate axes and which passes

through (4,3) and (-14).

o Watch Video Solution

63. Find the equation of an ellipse whose axes
lie along the coordinate axes, which passes

through the point (-3,1) and has eccentricity

equal to 4/2/5

° Watch Video Solution



https://dl.doubtnut.com/l/_cRLxckwpklWF
https://dl.doubtnut.com/l/_WPXRZAlIrn4u

64. Find the equation of an ellipse the
distance between the foci is 8 units and the

distance between the directrices is 18 units.

o Watch Video Solution

65. Find the equation of an ellipse whose

vertices are (0, + 10) and eccentricity e = 5

° Watch Video Solution



https://dl.doubtnut.com/l/_9OJc4WdMJKdI
https://dl.doubtnut.com/l/_bkGtpbtPrTUr

66. A rod of length 12 cm moves with its ends
always touching the coordinate axes.
Determine the equation of the locus of a point
P on the rod, which is 3cm from the end in

contact with the x-axis.

o Watch Video Solution

67. If the lengths of semi major and semi
minor axes of an ellipse are 2 and /3 and

their corresponding equation are


https://dl.doubtnut.com/l/_D9oiNh7yvwNd
https://dl.doubtnut.com/l/_b7CVNiJ0qPhD

y—5=0andx+3 =0 then write the

equation of the ellipse.

° Watch Video Solution

68. Write the eccentricity of the ellipse

922 + 5y — 18z — 2y — 16 = 0.

o Watch Video Solution

69. Write the centre and eccentricity of the

ellipse 322 + 4y* — 6z + 8y — 5 = 0.


https://dl.doubtnut.com/l/_b7CVNiJ0qPhD
https://dl.doubtnut.com/l/_sWgYqiKSsxZ5
https://dl.doubtnut.com/l/_tC0KOkeHbzeA

° Watch Video Solution

70. PSQ is a focal chord of the ellipse
4z + 9y® = 36 such that SP=4. If S' the

another focus write the value of S'Q.


https://dl.doubtnut.com/l/_tC0KOkeHbzeA
https://dl.doubtnut.com/l/_6dBt4vYHMG4d

26
Answer: ?

° Watch Video Solution

71. If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.

o Watch Video Solution

72. The eccentricity of the ellipse, if the

distance between the foci is equal to the


https://dl.doubtnut.com/l/_6dBt4vYHMG4d
https://dl.doubtnut.com/l/_LL9vXUqiJWRf
https://dl.doubtnut.com/l/_CDK2xRoQ1Hx1

lenght of the latus rectum, is

° Watch Video Solution

73. If Sand S’ are two foci of the ellipse

2 9P
— + — = 1 and B is and end of the minor

a> b
axis such that DeltaBSS"’ is equilateral, then

write the eccentricity of the ellipse.

A3
4


https://dl.doubtnut.com/l/_CDK2xRoQ1Hx1
https://dl.doubtnut.com/l/_ZUbYaONaFB1A

1

Answer: —
2

o Watch Video Solution

74. If the minor axis of an ellipse subtends an
equilateral triangle with vertex at one end of
major axis, then write the eccentricity of the

ellipse.

A /2


https://dl.doubtnut.com/l/_ZUbYaONaFB1A
https://dl.doubtnut.com/l/_6zkNyhiO9SYF

@

o
mwlw %\

An 2
swer: /| —
3

o Watch Video Solution

75. If a latus rectum of an ellipse subtends a
right angle at the centre of the ellipse, then

write the eccentricity of the ellipse.


https://dl.doubtnut.com/l/_6zkNyhiO9SYF
https://dl.doubtnut.com/l/_rA7HvXqC9uK3

A e =
€ 9
Vb —1
B.e =
2
V9 +1
C.e=
16
VI+1
D.e =
2
b —1
Answer: ¢ —= \/_2

o Watch Video Solution

76. For the ellipse

1222 + 4y® + 24z — 16y + 24 = 0 acentre is


https://dl.doubtnut.com/l/_rA7HvXqC9uK3
https://dl.doubtnut.com/l/_OQNqHlCHijFX

( — 1, 2) b.lengths of the axes are /3 and 1 c.

/2
eccentricity = 3 d. all of these

o Watch Video Solution

77. The directrix of the parabola

z? — 4z — 8y + 12 =0is

° Watch Video Solution

78. The equation of the circle drawn with the

2y
two foci of — 4+ — = 1 as the end-points of

a? b2


https://dl.doubtnut.com/l/_OQNqHlCHijFX
https://dl.doubtnut.com/l/_n75Zl7vbFcjz
https://dl.doubtnut.com/l/_epFA0a8Nk29U

a diameter is

o Watch Video Solution

79. If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.

° Watch Video Solution

80. The eccentricity of the ellipse if the

distance between the foci is equal to the


https://dl.doubtnut.com/l/_epFA0a8Nk29U
https://dl.doubtnut.com/l/_ZqaUXMfBiZvB
https://dl.doubtnut.com/l/_NtbjwHOUzH24

VvH—1

5 b.

length of the latus rectum is a.

VB+1 /51
C

5 ) 1 d. none of these

o Watch Video Solution

81. The difference between the lengths of the
major axis and the latus rectum of an ellipse is

a.ae b. 2ae c. ae® d. 2ae?

o Watch Video Solution



https://dl.doubtnut.com/l/_NtbjwHOUzH24
https://dl.doubtnut.com/l/_oh6URLGcpXau

82. The eccentricity of the conic
92> 4 25y° = 225isa2/5b4/5¢.1/3d.1/5

e.3/5

o Watch Video Solution

83. The latus rectum of the conic

3
3z + 4y — 62 +8y—5=0is a3 b. % C.
2
—— d. none of these
V3

o Watch Video Solution



https://dl.doubtnut.com/l/_qQe0AOQb2TT6
https://dl.doubtnut.com/l/_7lSkUgnbGrEb
https://dl.doubtnut.com/l/_mFIc8sdkhTZ4

84. Find the equations of the tangents drawn
from the point (2, 3) to the ellipse

922 + 16y* = 144.

° Watch Video Solution

85. The eccentricity of the ellipse

2 2 D 3
dx” + 9y —i—8:1:—|—36y+4:O|sa.€ b.gc.
v2 V5
3 3

o Watch Video Solution



https://dl.doubtnut.com/l/_mFIc8sdkhTZ4
https://dl.doubtnut.com/l/_MY5HwL2imrgp
https://dl.doubtnut.com/l/_O04TqranS0ry

86. The eccentricity of the ellipse

4z + 9y? = 36is

1
a.
2v/3
1
b. —
V3
NG
C. 3
4 V5
6

o Watch Video Solution

87. The eccentricity of the ellipse

5z° +9y* = lisa2/3b.3/4c.4/5d.1/2

l €@ Watch video Solution


https://dl.doubtnut.com/l/_O04TqranS0ry
https://dl.doubtnut.com/l/_GsLOAnRBgCji

88. For the ellipse z*+4y> =9 a. the

eccentricity is 1/2 b. the latus rectum is 3/2 c. a

focus is (34/3, 0) d.a directrixis z = — 24/3

o Watch Video Solution

89. If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.

o Watch Video Solution



https://dl.doubtnut.com/l/_GsLOAnRBgCji
https://dl.doubtnut.com/l/_uwxhBHLC3WmE
https://dl.doubtnut.com/l/_qjNMVUFhm2uZ

90. An ellipse has its centre at (1,-1) and semi
major axis =8 and it passes through the point

(1,3). The equation of the ellipse is

(z+1)*  (y+1)°

a. 61 + 16 =1 b.
(z-1° -1 | ]
64 16 ‘
2 2
(z-1° @+ .
64 16 '
2+ -1
64 16

o Watch Video Solution



https://dl.doubtnut.com/l/_FEseyb2BFysi

91. Find the sum of the focal distances of any

point on the ellipse 9z + 16y = 144.

° Watch Video Solution

92. If (2,4) and (10,10) are the ends of a latus
rectum of an ellipse with eccentricity then the

length of semi major axis is a.20/3 b. 15/3 c.

40 /3 d. none of these

o Watch Video Solution



https://dl.doubtnut.com/l/_Sa518UgHulkU
https://dl.doubtnut.com/l/_uTi293kOo0do
https://dl.doubtnut.com/l/_MleY0FjFVtHf

93. The eccentricity of the ellipse
922 + 25y — 18z — 100y — 116 = O'is

a.25/16b.4/5¢.16/25d.5/4

o Watch Video Solution

94. If the major axis of an ellipse is three times

the minor axis, then its eccentricity is equal to

1 1 1 24/2 3
a.— d e.

3b°\/§c'\/§° 3 33

° Watch Video Solution



https://dl.doubtnut.com/l/_MleY0FjFVtHf
https://dl.doubtnut.com/l/_s6buoRItzT2l
https://dl.doubtnut.com/l/_ckJZZQxmI4cG

95. The eccentricity of the ellipse
25¢% + 16y* = 400 is

a3/b

b.1/3

c.2/5

d.1/5

o Watch Video Solution

96. The eccentricity of the ellipse

5z° +9y° = 1lisa2/3b.3/4c.4/5d.1/2

o Watch Video Solution



https://dl.doubtnut.com/l/_ckJZZQxmI4cG
https://dl.doubtnut.com/l/_3RnHtf3Lz04b

97. The eccentricity of the ellipse

1 1 V5
dz* + 9y®> = 36 is a. b. C. d.
2/3 V3 3
V5
6

o Watch Video Solution

1. The equation of the ellipse with focus (-1,1)

directrix £ — y + 3 = 0 and eccentricity is a.


https://dl.doubtnut.com/l/_3RnHtf3Lz04b
https://dl.doubtnut.com/l/_5H5qo8pRU789
https://dl.doubtnut.com/l/_VeqvrysehVip

72 4+ 22y + Ty + 10z + 10y +7=0  b.
722 4+ 22y + Ty + 10z — 10y +7=0 <
72 + 2zy+ Ty’ + 10z — 10y +7=0  d.
None of these

A. a.

722 + 2zy + Ty? + 102 + 10y + 7= 0

B.b.

Tx? + 2ey + Ty? + 10z — 10y +7=0

C.c

722 4 22y + Ty? + 10z — 10y + 7 = 0

D. d. None of these


https://dl.doubtnut.com/l/_VeqvrysehVip

Answer:
Tx® + 2xy + Ty +10z — 10y +7=0

o View Text Solution

2. The difference of het ellipse, if the minor is

equal to the distance between the foci is a.



https://dl.doubtnut.com/l/_VeqvrysehVip
https://dl.doubtnut.com/l/_ebK8o3NLgt8e

o View Text Solution

2 2
LA Y
2—XA  A-=5

represents an elipse, if

+1=0

3. The -equation

° View Text Solution



https://dl.doubtnut.com/l/_ebK8o3NLgt8e
https://dl.doubtnut.com/l/_fjOAMB6knjsj

